Subject: Merging births to women data - 1998 1999
Posted by SriVidya on Sat, 04 Jun 2016 12:19:49 GMT

View Forum Message <> Reply to Message

| have used v001 v002 v003 to match births to women data in the 2005 - 2006 datasets. When |
use exactly the same method to do this for the 1998-99 survey, | get the following error:
"variables v001 v002 v003 do not uniquely identify observations in the using data"

The using dataset is the individual recode and the master dataset is the births recode.

Any advise would be greatly appreciated!
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